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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. odemef Te9ed 91 Y9H 95 R ¥ ifard; faw |

Candidate must write first his / her Roll No. on the question

paper compulsorily.
2. U UF & fE<1 9 AUSH ®URR H foRdl gHR wt Afe / eax / faenvmg
TN W &=t 91 % U i GE 9 |

If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi

version should be treated valid.
3. |y AT € | U shHie 239 24 H =< fawmeu § |

All questions are compulsory. Question Nos. 23 and 24 have

internal choices.
4.  YUE Y HI IW & TE Sa-giant ¥ 71 fad |

Write the answer to each question in the given answer-book only.
5. U HHIR 28 5TH 31fd RIS YA E |

Question Nos. 2 to 5 are Very Short Answer type questions.
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6. Wl ot stavas 7, foo # faga umn wd o &= =t faen femd |
Wherever necessary, show the direction of the electric current
and electric field in the diagram.

7. 99 99 & & 9 sfus 9AF &% a9 §, 37 9 9 1 T 91y
Haq fod |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

8. U HHH 1% AR AN (i, ii, ili T iv )T | T&H 9 & IW & 9K
faweq (31, & WU ) € | Tl fahey &1 SAUER STR-Yfaeht #
frerER arferent sMeR foag
There are_four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

—— et ST hT hHTRR
R . Correct letter of the
Question No. An
swer
1. (1)
1. (ii)
1. (iii)
1. (iv)
1. () foAguuftgy § xdun yiagst & oo goa ufadiy
20 Q 90 O
X Y
20 Q 20 Q
(1) 100Q () 80Q
(" 200 (T 100Q 1
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The equivalent resistance between the points X and Y of the
circuit shown is

20 Q 20 O
X % 20 Q Y
20 Q 20 Q)
(A 100 (B) 800
(C) 200 (D) 100 Q. z

(i) STTEH A9 & F= qrd formare® 99
(31) HieEi &% o= qR oagH 9 ol §
(9) it & o= qra=R SeH 9 Hed ©
(¥) WcaYATA T
(7)) wWeafeawde |
The thermo e.m.f. below neutral temperature

(A) rises by increasing temperature difference between

junctions

(B) decreases by increasing temperature difference between

junctions

(C) always remains zero

(D) always remains constant. %
(ili) fE < FErRE yai, STt §F Yool T YEeR-HeX § & 7 & g
10 9Tt §, Y 37F T o STt 911 BT A ©
(31) 47 x 1075 N (d) 47 x10-7 N
() 10°° N (7 107 N.
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If the distance between two magnetic poles of pole strength one
ampere-metre is 10 cm, then the value of force experienced

between them is

(A) 4mx 10" N (B) 4nx10-7 N

() 10°° N (D) 10-7 N. z

(iv) A HHE 9 ¥ GHAM THEY Jrhid & H KU ki e gafud fma
ST 7, @t fr # 9 fhw o1 R waifys greeka 99 a2

(1) _,e° () 4 L’

3

(w) | H! ()

If particles of same velocity are projected perpendicularly in a
same uniform magnetic field, which of the following particles
experiences more magnetic force ?

0

A)  _, € (B) 4 Li”

(€ , H! D) , He*.

N —

2

2. 392 yerel & A fafe e gfaia a9 o o Homesd g © o

Write the names of two substances, whose temperature coefficient of

. . h 1
resistance o is negative. 5

3. Hdw gt o gow 9 sifad u1g o 9 fafey |

Write the names of first and last metals of the Seebeck series. %
4. M foag &l aRvrfa sifsa |

Define neutral point. %
5. JEIhIF & IUF HA oh e &l @ld (Aray |

Write any two sources to produce magnetic field. %

SS—40-1—Phy. I

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@B

The Learning App

5
6. WA & FAgel h ATHR AT FH W 9¢ AT € | R 2 e ¥4 o

Fareel i oo § gy fafan |

The size of soap bubble increases on charging. Why ? Write the

relation between charge density and radius of bubble. % +5 =1

N~

7. 3T Y@ SO 1 AT S 2 WISshigal® / HeX T | foga &3 =1 doar &
A o1 SH fog T AT HITSIC ST 36 {EE 3169 § osad 5 FH g W gan |

TEIEINT |

Charge density of an infinite linear charge is 2 microcoulomb/metre.
Determine the value of electric field intensity at a point which is 5 cm

away perpendicularly from this linear charge in air. 1

8. IA & foga ares o W& e dicear § 1 o= ¥ 2 ¥ o199 H fhy @E ¥
grafed § 2

What is the difference between electromotive force and terminal voltage

of a cell ? How are they related with each other ? % +5 =1

N~

9. (i) ufceR Uik skt afwre fafew |
(i) Y =h o+l fafge s Yfeeer i wd Giew fadis o gy o § |
(i) Define Peltier coefficient.

(ii) Write the formula which shows the relation between Peltier

coefficient and Seebeck coefficient. % + % =1
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10. 3ifocd o RO Sell B i S MBIl © 2 I8 Foll (v 9 | Tehe It & 2

What is the rate of energy loss due to Hysteresis ? In what form does

this energy appear ? +5 =1

N —
N —

11. T Yarel giafaen, fSae o i 9§ uo <feqomed o8 @ 8, § S
T & I o gRT <y |

In a current carrying solenoid the current is flowing clockwise from left

end. Draw the magnetic field produced in it. 1
12.  WRAfHT & e g1 w1 fam fofa |

Write Fleming’s right hand rule. 1

13. 10 Tl 9Tcl THh FHSell H Tl Jrahd Faad 0-1 HHhUS H 0-8 AR §  TThT

0-2 IR @ WAl € | Foeat & fa & 7" YR fao a0 a1 &1 79 9@

HIfST |

Magnetic flux associated with a coil having 10 turns decreases from
0-8 Wb to 0-2 Wb in 0-1 sec. Find out induced e.m.f. across the ends of

the coil. 1
14. o fag strawn @ MfHa foreht a1 =t forga frarfas w1 9@ &ifsT |

Find out the electrical potential energy of a system made from three

point charges. 2
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15. Th 6 uF & FUIME &1 favamR 109 ¥ FgTl 20 e e o W IHh!
Felt # ghg &t IO RIS

Calculate the increase in energy of a capacitor of capacity 6 uF when

its potential difference is increased from 10 volt to 20 volt. 2
16. R forst &1 AHifohd Fo5 IR SHeh! Tqferd STaE i ¥ 9T Hiteg |

Draw labelled diagram of Wheatstone bridge and obtain its condition of

balance. % + 1% =2

17. Tk diceHley o 3emehd H 1-1 dice fogd ames da &1 d4Ms 9a 5-5 HieY
TS T Eferd glal € | Afe Th 2:3 Q % 9y § 0-11 YEER 910 yented
g1, A1 39k Rl W favarr feat @ | 9gfad gsim ? dicediel 39 uiedis
HI 0-25 Fiee TGl €, q ITH IS § FAfe F1 gt ?

In a calibration of a voltmeter, a standard cell of e.m.f. 1-1 volt is
balanced at 55 m length. If current of 0-11 A flows in a resistance of
2-3 ), on what length the potential difference developed at its ends will
balance ? If the voltmeter reads this reading 0-25 volts, calculate the

error in its reading. 2
18. T TARM r e & wan # wafg a1 o F TRymu Fa1 T | HE FHERA
STE[U ST [ Fca Y |

An electron revolves with an orbital velocity v in an orbit of radius r.

Derive the formula for its magnetic moment. 2
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19. <@ fRE Fueel & UG S TS H1 S(&T0 Yd A Sl §, df Hoea H IRa

oI o1 foun 1 gt ? o3 9T 99T |

When south pole of a bar magnet moves towards a coil, then what will

be the direction of induced current in a coil ? Explain with diagram.

N~
1l
N

+1

N~

20. 9eEH g it afure fafew | tw aftay § 100 diee 1 fogqd a's 9d o
T T UPRER BT R Feled Bt § 1Ak uw 9 oo Ao 9@ H 3 1 FARR

HEIEEIIE

(i) fe TR

(i) uRay # i ufw

(iti) SIfSRIEA T o1 o H1ed Jal A |

Define wattless current. In a circuit, when 100 volt e.m.f. is applied,

one ampere current flows. If the phase differernce between current and

. .. T
electromotive force is 3 calculate

(i) power factor

(ii) average power in the circuit

N~
+
N~
+
N~
+
N~
1l
N

(iii) root mean square value of wattless current.

21. W& AW AT & TYLehed ol Foieh G HifSTu |

Obtain formula for self-inductance of a long solenoid. 2
SS—40-1—Phy. I

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@B

The Learning App

9
22. IE-gEe a9 &1 wUF T e w9 fafge | fedt @ie 9o ukfag o &

YRIATET =T TR % BT 3¢ GraIh1d &5 1 ek YTH hifed e gunied fo

Ifq UIATET =TeTeh 3= IeaTs o1 81, Al I9H oraad g d W feua foreht fog

I
WWQHB=%€W% | sTTawes fa oy |

State Biot-Savart’s law and write its mathematical formula. Deduce an
expression for magnetic field produced by a current carrying straight
conductor of finite length. Hence show that magnetic field produced at

a point by current carrying straight conductor of infinite length at a

uql
perpendicular distance d from it is B = ﬁ . Draw necessary

diagram. 1+1%+%+1=4

23. TMSH & 799 1 oA T 361 MUY &Y faf@y | T8d & 99 9 T 998
Sraf¥rd SR aTeeh 9d o R0 IHE FHY & fhet fog W forpa &= =t
e 1 =S 9T HIfST | STreredes oo we foga &5 1 diad 1 =6 e
Fcel g AT 1 aeh SR SwiEy |

S PE

fogga o fgya smeet o= § 2 goey foga &9 ¥ W@ = foea fgya & sast
TS WA | 0, 101§ AT H HoFsl T 1 TUMT HISC | (S AT H10T

(0, ) T A 90° & 180°%l, Tl T & HM 1 Bl ? SATawesh =l s |
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State Gauss law and write its mathematical formula. Using Gauss law,
obtain an expression for electric field intensity at a point near to a
uniformly charged infinite conducting sheet. Draw necessary diagram
and show the variation of intensity of electric field with surface charge

density by graph. 1+2+1=4

OR

What are electric dipole and electric dipole moment ? Calculate the

work done in rotating an electric dipole kept in uniform electric field by

an angle 8 ; from its stable equilibrium state. If value of rotating angle

( 9, ) becomes 90° and 180°, then what will be the value of work

done ? Draw necessary diagram. 1+2+1=4

24. W fHd wegd © ? 30 fogra fad | emafya guif & dufeq =i & fag
ZSTeh WTH Y | 98 Sl el WUfed Edl § 2 TR Ug Wi o1 Armifed fast
TS T 39 Icdl Torgld &5 i foen w1 yeiid wifse |

S PE

Ed wifiar w1 uRefid swifse | fag Y f6 519 g0 < el =Tl w1 T

T o ATeleh IR 9 Siied €, 1 39 favd § uftady &1 S1urd 3kt enfansdi

¥ ST % SSHHAE BT § | SravEeh fas 9y |
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What is a capacitor ? Explain its principle. Derive an expression for
energy stored in a charged capacitor. Where is this energy stored ?
Draw a labelled diagram of parallel plate capacitor and show the
direction of electric field produced in it. 1+2+1=4

OR
Define electrical capacity. Prove that when we connect two charged
conductors by a conducting wire of negligible capacity the ratio of
change in their potential is inversely proportional to ratio of their
capacities. Draw necessary diagram. 1+2+1=4
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